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"1 an® 7932 197 anp 9957 — This is what the mw» is teaching;
and similarly in an unclassified garden, etc.

Overview

»aX attempted to resolve the apparent contradiction in the 71wn as follows:
That when the 71wn stated "\NIX 7°2°°171 NTA2 IATIW DIPA 7132 197, it meant that
in a 7% ono and a YPA2 MNTAY WY DPH one is obligated to build a wall.
mooIn anticipates the following question. How would we then understand
the X9°0 of the Iwn which states "NIX 192217 NTA? ROV WY 2PR VP22 HaR'?
Seemingly it is telling us that by a 7vp2a in a 737 X2 137w D3Pn one is not
obligate to build a wall'. This implies, however, that by a ano 7vp2 one is
obligated to build a wall. However from the X" we imply that a 7vpa
requires a wall only by a 71737 171w 2 and not by a ano 7vp2. The original
contradiction remains (as far as a 7¥2 is concerned).

mooIn resolves this problem:

12 wApk " "»1 Xp'0Y — and we can similarly interpret the x2°0 likewise’.
mMooIn now quotes and interprets the X5°0 of the 71wn according to M2X:

nYPa ano 2R — however an unclassified valley —

73932 TAY T RSWw 2992 — and in a place where it is not customary to
fence in the gardens -

MR Pavnn 18 — we do not obligate him to build a dividing wall’.

Summary
When 2R interpreted the X9, the same applies to the ¥9°0 that by a ano

7Y and 713°32 M7A7 171 ROW 0Pn he is not obligated to build a wall.

Thinking it over
How did we understand s'®27 question; "72% *X» 5"X' originally, and how do
we understand it according to mooIn?*

!>2x only reinterpreted the X2 of the 71w that states '713°32 191'; giving the impression that the x5°0 should
be read literally that by a YR 12 PR 1737 W13 X9W Dpn2 mvpa.

*»ax did not intend to reinterpret only the Xw™ of '71°32 127 In fact the same reinterpretation applies to the
X9°0 of 'ypaa Hax' as well.

3 If the X9°0 were not written as such, one may have entertained the idea that by a 73 it is always required
to build a Pn13 even by a 11732 1271 R?Ww Dy (especially and indeed truthfully according to the X712 m¥°nn 7"n
if it was 1%7). When the X9°0 teaches us that 7¥p22 %2R and in a IR P17 PR 7932 N2 1373 ROW 2y, this
forces us to conclude that 7132 191 refers only to ano 772° and not 737 71 XYW DIPRA.

* See X"wn.
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